| Efficiency vs Dxy |
>.0.02r
<

098 56-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT_mKFIi-DQM_original
fici —e— /data2/legianni/standalone-May24/CMSSW_13 2_X_2023-06-05-1100/src/DQM_TT__mkFit-D
| Efficiency vs Dz | —— DOQM_TT__mkFit-DQM_original_newwindows

QM_updated-(

—+— DQM_TT__mkFit-DQM_update-mod127
N 0.02 : ; ;

9.018F
2 -
9.016F
g -
£0.014F
()
0.012F
0.01F
0.008F

0.006F

0.004f el

0002
1Q

.

Ratio

.....................

1.1 T

=

930 20 <10 0 10 20 30
TP dz (cm)




	Contents
	Page 1


